
2R

E
ve

nt
s 

/ b
in

0

2

4

6

8

10

12
 (TeV)RM

[0.8, 1]

[1, 1.2] [1.2, 1.6]

[1.6, 2]
[2, 4]

W 4-5 jet categorySignal region, 

) MCννZ(

 estimateγ
) estimateνW(l

CMS  (13 TeV)-135.9 fb

2R

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 1

.5
0]

E
st

im
at

e/
M

C

0

1

2

2R

E
ve

nt
s 

/ b
in

0

1

2

3

4

5

6

7

8

9

10

 (TeV)RM

[0.8, 1]

[1, 1.2]

[1.2, 1.6]

[1.6, 2] [2, 4]

W 6 jet categorySignal region, 

) MCννZ(

 estimateγ
) estimateνW(l

CMS  (13 TeV)-135.9 fb

2R

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 1

.5
0]

E
st

im
at

e/
M

C

0

1

2

2R

E
ve

nt
s 

/ b
in

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

 (TeV)RM

[0.8, 1]

[1, 1.2] [1.2, 1.6]

[1.6, 2] [2, 4]

Top categorySignal region, 

) MCννZ(

 estimateγ
) estimateνW(l

CMS  (13 TeV)-135.9 fb

2R

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 0

.4
0]

[0
.4

0,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 0

.2
4]

[0
.2

4,
 1

.5
0]

[0
.0

8,
 0

.1
2]

[0
.1

2,
 0

.1
6]

[0
.1

6,
 1

.5
0]

E
st

im
at

e/
M

C

0

1

2


